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Lesson 14 

Activity 1

Answer the questions for each of the graphs.
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(a)	 What is the rise? ​
(b)	 What is the run? ​
(c)	 What is the slope? ​
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(a)	 What is the rise? ​
(b)	 What is the run? ​
(c)	 What is the slope? ​

Activity 2

Answer the questions for each of the graphs.
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(a)	 At what point does the line 
cross the y-axis? ​

(b)	 What is the y-intercept? ​
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(a)	 At what point does the line  
cross the y-axis? ​

(b)	 What is the y-intercept? ​

Homework

Copyright 2010 by Cambium Learning Sopris West®. All rights reserved. Permission is granted to reproduce this page for student use.



Unit 9 • Lesson 14   777

Lesson 14 

Activity 3

Write the equation for the function shown in each graph by finding the slope 
and intercept.

1. What is the equation for this 
graph? ​
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2. What is the equation for this 
graph? ​
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3. What is the equation for this 
graph? ​
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Activity 4 • Distributed Practice

Solve.

1. 3x = 4x + 2 ​  2. 5x + 3 = 2x + 2 ​
1
3

3. x + 7 = −2x + 5 ​
2
3 4. 5 − x = 3x + −5 ​

1
2

5. 2x + 10 = −10 + −4x ​
1
3 6. −4x = −3x + 4 ​

7. −2x − 2 = 2 + −x ​  8. 4 − x = 5 + x ​
1
2

Homework
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